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Q.1 (a)  What interest rate would you need to turn $1,000 into $5,000 in 20 Years? 5

(b)  You want to know how many periods it will take to turn $1,000 into $2,000 at 10% 5
interest?
Q.2 (a) PESCO wants to overhaul three Generators installed at Warsak Dam so that its 5
output can be increased by 20% - which translate into additional cash flow of
$20,000 at the end of each year for five years. If i= 15% per year, how much can

PESCO afford to invest to overhaul these machines?

(b)  Mr. Farhan an employ of INU makes 15 equal annual deposits of Rs.10,000 5
each into Summit Bank account paying 5% interest per year. The first deposit
will be made one year from today. How much money can be withdrawn from
this bank account immediately after the 15 deposit?

Q.3 (@)  MR. Ali a Government servant on retirement received a lump sum amount of Rs. 5
10 Million. He wishes to distribute to his four children at the rate of Rs. one
Million per year. If the 10 Million amounts are deposited in a bank account that
earns 6% interest per year, how many years it will it take to completely deplete
the account?
(b) A peace of new equipment has been proposed by an engineer to increase the 5
productivity of a certain manual welding operation. The investment cost is
$25,000 and the equipment will have a market value of $5000 at the end of a
study period of five years. Increased productivity attributable to the equipment
will amount to $8,000 per year after extra operating costs have been subtracted
from the revenue generated by the additional production. If the firm MARR is 20%
per year, is the proposal a sound one? (Use FW method).

Q4 (a)  An MRI machine was installed at Khyber teaching hospital Peshawar in year 2018 10
at an initial cost of Rs 400,000 and expected to have zero salvage value at the end
of useful life of 10 years. Determine the annual depreciation amount using SYD
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method. Tabulate the annual depreciation amounts and the book value of the air
condition at the end of each year.

Q.5 (a) A company buys a Digital controlled (DC) machine for $28,000 (year zero) and uses
it for five years, after which time it is scrapped. The allowed depreciation deduction
during the first year is $4,000. as the equipment falls into the seven-year MACRS-
property category. (The first-year depreciation rate is 14.29 %.) The cost of the
goods produced by this DC machine should include a charge for the depreciation of
the machine. Suppose the company estimates the following revenues and
expenses, including the depreciation for the first operating year:

Gross income = $50,000;
Cost of goods sold =$20.000;
Depreciation on DC machine = $4,000:
Operating expenses = $6,000.
If the company pays taxes at the rate of 40% on its taxable income, what is its
Net income during the first year from the project'?
(b) Discuss different types of Business organization. 5
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